1

REV| ZONH ECN

REVISION DESCRIPTION

DATH ENG

Al .. ... | Released

10/20] PA

ITEM| PART
NO. | NUMBER DESCRIPTION QTy.
1 193001 Shank - Adjusting Gear 1
2 193052 Center Plate 1
3 193004 Front Plate 1
4 193008 Eccentric Gear 3
5 193039 Eccentric Roll Pin (.015) 3
6 191013 Carbide Roll Bushing 3
7 193016 Washer (Ring Style) 1
8 193034 Bolt: Hex, 1/4-28 x 1.25 lg. 3
9 109029 Screw: SHCS; 1/4-28x1.25 3 ;EEP%FEATVYV%E (I:SJTVVIEIN(%%I\'%F’\IAIDAIE(;\IJL?IIE. ?E'(?H%CL%’S'EVSE UNLESS OTHERWISE SPECIFIED: | DRAWN BY: P. Allart L c J WI NTE R DWG SIZE| scaLE: 114
10 193031 Screw: SSS, 1/4—20 x 1.25 lg. Oval Pt. 2 INC. AND MAY NOT BE COPIED, REPRODUCED, OR ' 8R‘f\\\//v\;|l;l\lc-;rE'\ARU|§l.\ll-g]8|'\EAglﬁﬁ\lgo DWG DATE: 10/12/2020 g } - B SHEET 1 OF 2
_ NG LR DX L X WITHOUT THE EXPRESS WRITTEN PERMISSION OF | | 4/ 1994 UNTOLERANCED | APPR DATE: 10/12/2020 : DRAWING NO
2 | 192018 Thrust Wash 5 C.J. WINTER MACHINE TECHNOLOGIES, INC UNLAWFUL | Y 14. - : 193 End Ro|||ng Attachment :
rust Washer DISCLOSURE MAY RESULT IN PROSECUTION DIMENSIONS ARE BASIC MATERIAL:  SEE BOM 193 E 8_03
13 | 192017 Thrust Bearing 3 () 2004 C.J. WINTER MACHINE TECHNOLOGIES, NC.  {[ /T 020 [A[B[C| SW|HEATTRT: N/A CAT40 Shank -1.220 CB
4 3 2 1




@1.750

- 2.625 —#=

- 4 25—

— 6.937

4 3 2 1
REV|ZONE| ECN REVISION DESCRIPTION DATE| ENG
A Released 05/16 |SGB
t— 1,850 —m=—]
@4.625 —~ .796 Roll Pocket
— |- 1.750 CAT40
23 SECTION M-M —(Z)Gauge Ling
=
] A = |
Y ~
o bﬁ&ﬁ)yx
o g =
W — CATA40 holder with
| = W

5/8-11 pull stud thread

THIS DRAWING IS THE CONFIDENTIAL AND EXCLUSIVE | UNLESS OTHERWISE SPECIFIED: | DRAWN BY: P. Allart DWG SIZE |scaLE: 12
PROPERTY OF C.J. WINTER MACHINE TECHNOLOGIES, 8Rf\\/l\lvlm§El\/lRU§£ &8&%&0 DWG DATE: 10/12/2020 & B
INC. AND MAY NOT BE COPIED, REPRODUCED, OR . ; - - SHEET 2 OF 2
DISCLOSED IN ANY WAY, WHATSOEVER TO ANYONE STANDARD E1058 & ASME ENG. APPR_. P. Allart A Brinkman Inte.rnatvonal Group, Inc. Company
WITHOUT THE EXPRESS WRITTEN PERMISSION OF Y14.5M 1994, UNTOLERANCED | APPR DATE: 10/12/2020 193 End RO"lng Attachment DRAWING NO.
C.J. WINTER MACHINE TECHNOLOGIES, INC UNLAWFUL |DIMENSIONS ARE BASIC MATERIAL: SEE BOM 1 93 E S 03
DISCLOSURE MAY RESULT IN PROSECUTION [\ ]020[A[B][C]|SW|HEATTRT: NA CAT40 Shank -1.220 CB -

4 3 1

‘ 2




